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ECONOMICS
( General )
Course : 501

( Elementary Statistics for Economics )

Full Marks: 80 .
Pass Marks: 32

Time: 3hours - . .
The ﬁgures in the margin indicate full marks
' . for the questions ' .
1. 9% SR AR %ﬁmmﬁm ®: O 1x8=8

Choose the correct optlon/Answer the
following : %

(a) o [REAS SPraH S =W
Direct personal investigation is related
to

(i) T RIQ FAMS / Index number
(ii) ¢ O 7S / Secondary data
(iii) (PR R 7S / Primary data
(iv) TR OYR FAMS / Government data
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(2)

(b) m@mﬁmwﬁwmww *
w7 '
Which formula is not used to calculate
arithmetic mean?
m =

(i) A+=—=— Zfd

iy 2214 Efldl

(iv) —Zx

(© wﬁwwﬁwmmwm{w 4l
™7 '
Which concept in statistics is shown in
percentage? ‘

(i) e NG / Geometric mean
(ii) I / Mode
(iii) P WA / Index number
(iv) o1F / Range
d) ReaE g v93F Reorr aire & |

Coefficient of variation is related to
quartile deviation.

(i) =W/ Yes
(i) 7= / No
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(e)

(e)
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(3)

wore fan et Resoios e 721 2

Which of the following is not a measure
of dispersion? ‘ '

(@) s Roem

Mean deviation
(ii) [T TS

Harmonic mean " -~
(iti) =P

Range

(iv) SBHILF 2] ‘

Interquartile rangé

TSI e«
Show in percentage :

2 50 e
o AR Py 31
Index number measures
() wom e
national income
(i) QT =R T " S
cost of living * "~ ¢ '
(iii) TR Teomm S
agricultural production
(iv) Fcmem e

rate of employment
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(4)

(h) S o’=R T A Bfe 2= &
Exit poll findings are sbased on
() R R afor{
random sample of umverse
(i) B T w0
complete survey of the universe
(iii) TR Fdfe T
quota sample of the universe

(iv) SRI B8
None of the above

zwﬁmmﬁﬁmwmﬁm(m =2
150 *+] &%) : 4x4=16 )
Write short notes on any. four of the following
(within 150 words each) :

(@) 2R ©Y
Primary data
(b) T e
Arithmetic mean
(c) T RpfS
Quartile deviation
(d) s afewf
Random sampling
(e) T RIYN IJIYI N
Uses of index number

14P—8000/215 ." ( Continued )




-

(5)

3. (a) enafie o W N9 YR WET NI Bl |

(b)

4. (a)

T @AY o fréscany ? TR 9w
*fRea =t off & B ou mam FRaT? 4+1+6=11

Distinguish between primary and
secondary data. Which one is reliable?
What information or data, you collect
from the students of a college to know
the family background and academic
aspect of the students?

W/ .Or

WE G WF OFeRIE WEE 1Y
a1 e¥ ot RS orar @B SwRICI
TS 44 | ‘ 5+6=11

Distiﬁguish between classification and
tabulation of data. Illustrate the
components of a table with an example.

o ww IR e fan Riige ue
IS TR CFAS G °! KB (FCALS 1 30

[, I 4+7=11
Define median and mode. Explain how
these measures are calculated in case of
ungrouped and grouped data.
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(6)

g/ Or

(b) =S Fig SR [ MAET o wF v
g : ' 5+6=11

Calculate Arithmetic Mean and Median
from the following data :

e Rl - —

Daily wages No. of Workers
20-30 5
3040 !5
40-50 28
50-60 42
60-70 15
70-80 12

- -80-90 : 3

5. (q) Rewea B2 e B 39 @i & [&o
g Reem W amifae Reem ke o
W’]ﬁﬂl’l‘i?‘ﬂf@ qqr 2+3+6=11
What is dispersion? What are its
measures? Mention the merits and

dg;nerits of mean deviation and
standard deviation.
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(7)

* w11/ Or

(b) &S T SR R AMIE Roew el 1 11

Calculate Standard Deviation from the
following data :

o © I
Class Frequency

3040 1

40-50 4
50-60 14

) 60-70 . 20

. 70-80 22
«‘_ 80-90 12
90-100 2

6. (o) PIRT TT QLA W (I FACS B
G FFPBICIN 101 341 | 2+9=11
What is Index Number? Explain the

various problems involved in the
construction of Index Number.

=]t/ Or

(b)wwarﬁz%f%v(i)mﬁw
(ii) Reoraa wed 5@ ezt TR 2013 9 WA
0 e fRefa o 5+6=11
E Calculate Price Index Number for the
year 2013 by using (i) Laspeyres and
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7.

(i) Fisher’s

(8)

Ideal

following data :

Index from

. the

bt/ q <377
Goods Price Quantity
2013 2012 2013 2012
A 10 20 100 50
B 20 40 200 100
o] 15 30 . 150 75
D 22 44 220 110

(o)

S T @AA? TR RRw omfemm

.

Rz rm #7411 2+10=12
What is interpolation? Explain the
different methods of interpolation.

o<t/ Or

BRE SECEH TR YIS TR SYRIFR o
16 37T Hgg grom A 1

Using an appropriate formula for
interpolation, estimate the expectation
of life at the age of 16 years by using the
following data :

(b)
12

10 15 20 25 30 35

TP (IRS)
Age (in years)
&3 2foTrer (I23%)

Expectation of life (in years)

. 354 32:3 292 260 232 204

 kkk
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